

ESERCIZIO 1

16/11/12

$$\textcircled{1} \quad E(s) = \frac{2r}{s} \quad F(s) = -\frac{2re}{s}$$

$$U(s) - U(s_0) = -\int_{s_0}^s F(s') ds' = 2re \int_{s_0}^s \frac{ds'}{s'}$$

$$U = 2re \ln \frac{s}{s_0} \quad R_0 \leq s, s_0 \leq R$$

Per un po' per convenienza lo zero di energia a $s_0 = R_0$

$$\boxed{U = 2re \ln(s/R_0)} \quad \beta re = \frac{1}{2}$$

$$Q_N(V, \gamma) = \frac{1}{N!} q^N$$

Usiamo coordinate cilindriche

$$q = \frac{1}{\lambda^3} \int d\vec{r} e^{-\beta 2re \ln r/R_0} \quad \begin{matrix} z, s, \varphi \\ - \ln s/R_0 \end{matrix}$$

$$= \frac{1}{\lambda^3} \int_0^L dz \int_{R_0}^R ds s \int_0^{2\pi} d\varphi e^{-\beta 2re \ln s/R_0}$$

$$= \frac{1}{\lambda^3} L 2\pi \int_{R_0}^R ds s \quad \frac{R_0}{s} = \frac{2\pi L}{\lambda^3} R_0 (R - R_0)$$

$$Q_N(V, \gamma) \approx \left(\frac{e}{N} \frac{2\pi L R_0 (R - R_0)}{\lambda^3} \right)^N$$

$$\boxed{A_N(V, \gamma) = -k_B T \ln \left[\frac{2\pi L}{N} \frac{R_0 (R - R_0)}{\lambda^3} \right]}$$

(2) dV = 2πRL dR

$$P = - \frac{\partial A}{\partial V} = - \frac{1}{2\pi RL} \frac{\partial}{\partial R} \left[- N k_B T \ln \left(\frac{2\pi e L R_0 (R - R_0)}{N \lambda^3} \right) \right]$$

$$= \frac{N k_B T}{2\pi RL} \frac{\partial}{\partial R} \ln(R - R_0) = \frac{N k_B T}{2\pi R (R - R_0) L}$$

$$P = \frac{N k_B T}{2\pi R (R - R_0) L}$$

(3)

$$\mu = \frac{\partial A}{\partial N} = \frac{\partial}{\partial N} \left\{ N k_B T \ln \frac{N \lambda^3}{2\pi e L R_0 (R - R_0)} \right\}$$

$$= k_B T \ln \frac{N \lambda^3}{2\pi e L R_0 (R - R_0)} + k_B T$$

$$\mu = k_B T \ln \frac{N \lambda^3}{2\pi e L R_0 (R - R_0)}$$

$$n(s) = N \frac{\int d\vec{r}_i e^{-2\beta e r \ln \frac{r}{R_0}} \delta(r - \vec{r}_i)}{\int d\vec{r}_i e^{-2\beta e r \ln \frac{r}{R_0}}}$$

2βer = 1

3

$$n(s) = \frac{N R_0/s}{2\pi L R_0 (R - R_0)} = \frac{N}{2\pi L S (R - R_0)}$$

$$n(s) = \frac{N}{2\pi L S (R - R_0)}$$

$$p = \frac{N k_B q_1}{2\pi L R (R - R_0)} = k_B q_1 \rho(R)$$

$$\mu = k_B q_1 \ln \frac{N \lambda^3}{2\pi L R_0 (R - R_0)} = k_B q_1 \ln [\rho(R_0) \lambda^3]$$

ESERCIZIO 2 16/11/12

$$\mathcal{X} = \sum_{i=1}^N h_i \quad h = \frac{p^2}{2m} + k_B T \frac{z}{l} \left[1 + \lambda \frac{z}{Lz} \right]$$

$$Q_N = \frac{1}{N!} q^N \quad q = \frac{1}{h^3} \int d\vec{p} \int d\vec{r} e^{-\beta h}$$

$$q = \frac{1}{h^3} \int d\vec{p} e^{-\beta \frac{p^2}{2m}} \int d\vec{r} e^{-\frac{z}{l} - \lambda \frac{z^2}{lLz}} \equiv q_1 \cdot q_2$$

$$q_1 = \frac{1}{\lambda^3} \quad \frac{1}{\lambda^3} = \sqrt{\frac{2\pi m k_B T}{h^2}}$$

$$q_2 = A_b \int_0^{Lz} dz e^{-z/l} e^{-\frac{z^2}{lLz} \lambda}$$

$$\approx A_b \int_0^{\infty} dz e^{-z/l} \left[1 - \lambda \frac{z^2}{lLz} \right]$$

$$= A_b l \int_0^{\infty} dy \left[e^{-y} - \lambda \frac{l}{Lz} y^2 e^{-y} \right] \quad y = \frac{z}{l}$$

$$\int_0^{\infty} dy y^2 e^{-y} = \left[\frac{d^2}{d\alpha^2} \int_0^{\infty} dy e^{-\alpha y} \right]_{\alpha=1} = \left[\frac{d^2}{d\alpha^2} \frac{1}{\alpha} \right]_{\alpha=1} = \frac{2}{\alpha^3} \Big|_{\alpha=1} = 2$$

$$q_2 = A_b l \left[1 - 2\lambda \frac{l}{Lz} \right]$$

$$Q_N = \frac{1}{N!} (q_1 \cdot q_2)^N = \frac{1}{N!} \left(\frac{A_b l}{\lambda^3} \right)^N \left(1 - 2\lambda \frac{l}{Lz} \right)^N$$

$$\textcircled{1} Q_N = \frac{1}{N!} \left(\frac{A_b l}{\lambda_{T_1}^3} \right)^N \left(1 - 2\lambda \frac{l}{L_2} N \right)$$

$$\boxed{Q_N \approx \left(\frac{e A_b l}{N \lambda_{T_1}^3} \right)^N \left(1 - 2\lambda \frac{l}{L_2} N \right)}$$

$$\textcircled{2} A = -k_B T_1 \left[N \ln \frac{e A_b l}{N \lambda_{T_1}^3} + \ln \left(1 - 2\lambda \frac{l}{L_2} N \right) \right]$$

$$\boxed{A \approx -N k_B T_1 \left[\ln \frac{e A_b l}{N \lambda_{T_1}^3} - 2\lambda \frac{l}{L_2} \right]}$$

$$\textcircled{3} l \sim \beta^{-1} \quad 1/\lambda_{T_1}^3 \sim \beta^{-3/2} \quad l/\lambda_{T_1}^3 = C' \beta^{-5/2}$$

$$E = \frac{\partial \beta A}{\partial \beta} = - \frac{\partial}{\partial \beta} \left[\ln \beta^{-5/2} - 2\lambda \frac{C'}{L_2} \beta^{-1} \right] N$$

$$= \frac{5}{2} N \frac{1}{\beta} - 2N\lambda \frac{l}{L_2} \frac{1}{\beta} \quad l = C' \beta^{-1}$$

$$\boxed{E = N \left[\frac{5}{2} k_B T_1 - \lambda \cdot 2 \frac{k_B T_1^2}{mg L_2} \right]} \quad C = \frac{k_B T_1}{mg}$$

$$\textcircled{4} C_V = \frac{\partial E}{\partial T_1} = N k_B \left[\frac{5}{2} - \lambda \cdot 4 \frac{k_B T_1}{mg L_2} \right]$$

$$\boxed{C_V = N k_B \left[\frac{5}{2} - 4\lambda \frac{l}{L_2} \right]}$$